Mathematics – Geometry EOC

Curriculum Development and School Improvement- Secondary

MA.912.G.6.6 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. Ms. Smith drew a circle on the coordinate grid white board in her geometry class.  The equation of her circle is
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.  What is the diameter of her circle?
A.  5
B.  10
C.  20
D.  25
2.  Juanita drew a model of the Palm Beach County Zoo that contained the circular fountain on a coordinate grid.  The center of the fountain is located at 
[image: image2.wmf]).
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  The radius of the fountain is 25 feet.  Which of the following equations could represent the edge of the fountain?
F. 
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G.  
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H.  
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I.  
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3.  A city planner is redesigning a street to add a circular roundabout to help traffic flow.  The circular roundabout is represented by the equation 
[image: image7.wmf].
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  Which of the following points represents the center of the roundabout?
A.  
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B.  
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C.   
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D.   
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4. The US Coast Guard is searching for a missing fishing boat by creating a circular search pattern around the boat’s last known location.
         [image: image12.png]



Which of the following equations represents the circle of the search?

F.   
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G.   
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H.   
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I.     
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5. What is the radius of a circle with an equation of 
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A.  3
B.  5
C.  9 

D.  81
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